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Bud® udmHbed BEnd muwsis.

1. A ew B eesde 8808 coc@m 88eOBs  a=2i++3k wv b= -5l+4/—-k
&, '

(i) AB 8 secdm odmdens ewmwsis.

(i) ] ©dc 0860008 eoslm e@mdens, [ 1T = 7i+pj — 4k +u(3i + 5] + 5k ) @D

e®8 on p Honed. AB ww liwde odth om ofeom edeme 0D m® p 8§ goo
ww edem clesed & edthm ewwsim.

2. O feomd wedide © 4, B ow ( cfescde datem 88eb8x7 A(l, 2,-1),
B(—1, 1, 2)ew C(2,-1,1) e®m8,

(1) AB ww AC eoelim 1,jewn kwnddn 88s ymon m0 AB X AC owsssis,
(i) om8st ABC Homdsmed DE0dEH omme mOTH,

(iiiy OABC Dnyumeed 888D ewwsin.

3. (@) [, mew neecln nmn od. ovm weost ¢ aoasiD.

M [lm (m-n)]+[lm n|],«88 [Im n]=1 -(mxn)es.
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Answer All Questions
L. The position vectors of the points A and B are given by
a=2i+j+3k and b = —5j + 4j — k respectively.
(1) Find the vector equation of the line AB ,

(i)  The vector equation of the line Iy is /;:r = 7i + pf — 4k -+ pu(3i + 5/ +5k)

where p is a constant. Given that AB and /| intersect, ﬁndp and the
coordinates of the point of intersection.

2. Let O be the origin of right-handed coordinate system and 4, B, and C be the points
A(1,2,~-1), B(~1,1,2) and C(2,—1,1) respectively.

(i) Write down expressions for AB and AC  in terms of i,jandk and find

AL x AC,

(ii) Hence, calculate the area of the triangle ABC,
(i) Find the volume of the tetrahedron OABC,

3. (a) Let [,mand n be three vectors. Evaluate

O [lm m-n)|+[lm n], where [l m n]=1(m xn)
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m= = — 3% [ém n] # 0 ed.

by 2i—j+3k, 3i+2j+k oo i+mj+idk Senc »& mFgne swesim,
() a.,b,c opocen pmi, @@28\@|:1,|Ql:2,|£|:1 )
_@x(gx_@)+ c=0 0 50 a e b i Y yo enfese cwaslm.
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, h = el and [lm n]iO,
m n - T T
(b If 25’—,1'-}- 3k, 3i+2j+k ,i+mj+ 4k are coplanar, find the value of m,

(© If a,b,c arethree vectorssuchthat |a| =1,|b|=2,]¢|=1and
a X (g X Q) + ¢ = 0, then find the acute angle between a and b .
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